JL_

Addition (Vertical) Name:
Solve each problem. Answers
1.
) 40 2) 434 3 5,250
+ 3 + 18 + 2,303 2
3.
4.
4 19 5 91 6 3,893 >
+ 1 + 86 + 3,372 6
7.
8.
7) 1,252 8 4,678 9) 680 S
+ 608 + 2,557 + 543 0
11.
12.
100 1,761 1) 37 12) 2,204 13,
+ 46 + 4 + 28
- - 14.
15.
13) 89 14) 765 15) 753
+ 58 + 401 + 26
1-10 | 93] 87|80 | 73] 67| 60| 53] 47| 40| 33|
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Addition (Vertical) Name: Answer Key
Solve each problem. Answers
1 43
1) 40 2) 434 3 5,250
+ 3 + 18 + 2,303 5 452
43 452 7,553
3. 7,553
4 20
177
H 19 5 91 6) 3,893 >
+ 1 + 86 + 3,372 . 7.265
20 177 7,265
7 1,860
8 7,235
7). 1,252 8 4,678 9 680 9 1,223
+ 608 + 2,557 + 543 o 1.807
1,860 7,235 1,223
1. 41
12. 2,232
100 1,761 1) 37 12) 2,204 13 147
1,807 41 2.232 14. ’
15, 779
13) g9 14) 765 15) 753
+58 + 401 + 26
147 1,166 779
cocosheets.com/sheet/1415668 1-10 |93 |87 80| 73|67 60| 53 | 47 | 40 | 33|
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Addition (Vertical) Name:
Solve each problem. Answers
43 1,223 20 7,235
7,553 1,807 41 2,232 1.
1,860 7,265 452 177
2.
1) 40 2) 434 3 5,250 3
+ 3 + 18 + 2,303
- 4,
5.
6.
7.
4) 19 5 91 6) 3,893
+ 1 + 86 + 3,372 8.
9.
10.
11.
7) 1,252 8 4,678 9) 680 12.
+ 608 + 2,557 + 543
100 1,761 1) 37 12) 2,204
+ 46 + 4 + 28
M odified 1-10 | 92|83 75|67 [58[50] 4233|2517 |
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